Missing Addends

Name: Score:

Find the missing addends.

3.99 + B = 5.19 1245 + B = 14.19

0.12 + B = 1 03 + B = 1.05 0.82 + B = 1.1
4.25 + B = 6.05 2937 + B = 33.87 2.38 + B = 3.58
2.88 + C} = 428 14.45 + C} = 20.05 10.99 + C} = 12.09
0.9 + B = 1.85 0.23 + B = 2 24 + B = 3.05
11.11 + B =12 235 + B = 6.05 12.25 + B = 15.05
0.8 + B = 1.15 0.99 + B = 2 0.9 + B = 1.67
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Answers

Find the missing addends.

3.99 + 1.2 | = 519 1245 + | 1.74 | = 14.19

B

012 + | 088 | = 1 03 + | 0.75| = 1.05 0.82 +

H

028 = 11

4.25 + 1.8 | = 6.05 2937 + 4.5 | = 33.87 238 + 1.2 | = 358

5]
B

2.88 + = 428 14.45 + 5.6 | = 20.05 10.99 + 1.1 | = 12.09

09 + | 095 = 1385 023 + | 1.77 | = 2 24 + | 0.65|= 3.05

g
H

11.11 + | 0.89 | = 12 235 + 37 | = 6.05 12.25 + 2.8 | = 15.05

B
B

08 + |035]|= 115 099 + [ 1.0l = 2 09 + | 0.77| = 167
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